Virginia High School League Regional Competition, 2000-01 season

Match #2


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
He wrote over 100 books all featuring a down-on-his-luck orphan who, by a stroke of good luck, begins to advance his fortune. Who is this author who said in his books that honesty, perseverance and hard work would lead to advancement, writing such series as Tattered Tom, Luck and Pluck and Ragged Dick?

ANSWER: Horatio ALGER
2.
He was born in 1854 in Washington, DC, and in 1880 assumed leadership of ‘The President’s Own’, the US Marine Band. He then toured with his self-named band until his 1932 death. Who is this bandleader, known as the ‘March King’, composer of the immortal piece The Stars and Stripes Forever?

ANSWER: John Philip SOUSA
3.
On March 8, 1841, the Supreme Court upheld a lower court’s decision and freed the Africans who were aboard a Spanish slave ship and had mutinied. What was the name of this ship, for which a movie was released in 1998?

ANSWER: AMISTAD
First period (continued)

4.
What Danish chemist suggested that acids be defined as proton donors and bases be defined as proton acceptors?

ANSWER: Johannes BRONSTED
5.
THIS IS A COMPUTATION QUESTION. What is the surface area in square inches of a 3-inch cube?

ANSWER: 54 (3 x 3 on one face is 9 square inches per face – 6 faces on a cube – 54 square inches total)

6.
He was named for the little soldiers’ boots he wore was a child. As emperor from 37 to 41 AD, he was able to ruin the Roman treasury. Who is this Roman Emperor best known for naming as a consul Incitatus, his favorite horse?

ANSWER: CALIGULA
7.
The most recent statue of FDR placed at the FDR Memorial was delayed for several years due to protests from the disabled community over what aspect of the statue?

ANSWER: the he was in a WHEELCHAIR (prompt on polio or paralysis)

8.
What sort of wave has particles of the medium moving  in a direction parallel to the direction the wave moves?

ANSWER: LONGITUDINAL wave

9.
What two-word phrase describes an impersonal letter sent in a standardized format to different people?

ANSWER: FORM LETTER
10.
THIS IS A COMPUTATION QUESTION. A three-card monte hustler can bilk an average guy for $100. However, one out of every five men who play him bilk him instead for $200. Assuming he sees 45 people in an average day on the street corner, how much can he make?

ANSWER: $1,800 (out of every five guys, four lose, giving him $400. One guy wins, taking $200 of that $400, leaving him another $200 for every 5 people. Multiply $200 by 9 and you get $1,800)

First period (continued)

11.
THIS IS A COMPUTATION QUESTION. A factory can produce 2,000 cars per day, except when it is on strike, when it only produced 500 cars per day. There are also 10 holidays during the year when no cars are produced. Given a typical 365-day year with fifteen strike days, how many cars are being produced?

ANSWER: 687,500 cars (340 * 2000 = 680,000, 15 * 500 = 7,500)

12.
What is the following sentence in the simple past perfect tense: ‘I go to the store’?

ANSWER: I HAD GONE TO THE STORE
13.
What name is given to the practice of jointly owning holiday accommodation in a condominium, where each shareholder is entitled to a certain amount of time at the condominium based on the number of shares he has purchased?

ANSWER: TIME-SHARE
14.
Although non-toxic, their true effect was not discovered until the early 1980s when a recurring hole in the ozone layer was found over Antarctica. What are these compounds which are being phased out and were once used in aerosols, foam packaging and refrigerants?

ANSWER: CHLOROFLUOROCARBONs or CFCs

15.
Who is the 20th century artist who painted works with unoriginal titles such as Mural, Painting, 1948, and Composition?

ANSWER: Jackson POLLACK
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What 19th century Czech composer’s 9th symphony in E minor is commonly called Symphony From the New World?

ANSWER: Antonin DVORAK
1B.
What name is given to an ion that can contain both a positive and a negative charge simultaneously, which gets its name partially from the German word for “two?”

ANSWER: ZWITTERION (tsvih-TAIR-ee-on)

2A.
What name is given to the Japanese mafia?

ANSWER: YAKUZA
2B.
Which of King Arthur’s knights engaged in a struggle with a Green Knight?

ANSWER: Sir GAWAIN (guh-WAIN)

3A.
How many valence electrons are in a neon atom?

ANSWER: EIGHT
3B.
THIS IS A COMPUTATION QUESTION. What is the y-intercept of a line that runs between (4,6) and (-2,3)?

ANSWER: 4 (The slope of the line is 6-3 / 4 – (-2) = ½, thus y = ½x + b. Plug in 4 and 6 and this gets 6 = ½ (4) + b, then 6 = 2 + b, then 4 = b.)

4A.
Who is the elderly wood-carver who used a block of wood to make his son, Pinocchio?

ANSWER: GEPETTO
4B.
Benazir Bhutto is returning to the politics of what country, which is currently ruled by General Pervez Musharraf?

ANSWER: PAKISTAN
Second period (continued)

5A.
What is the first positive angle to have an undefined secant?

ANSWER: 90 degrees or PI/4 radians

5B.
What 1954 battle convinced the French to give up control of Vietnam?

ANSWER: DIENBIENPHU
6A.
The Bifrost Bridge guarded the approaches to what Norse kingdom of the gods?

ANSWER: ASGARD
6B.
What is the name of the particle that has energy stored and is used to power cellular respiration and cellular functions?

ANSWER: ATP (ADP’s don’t have energy stored!)

7A.
The Byzantine Empire was eventually conquered by what other Empire?

ANSWER: OTTOMAN Empire

7B.
Steven Vincent Benet’s epic about the American Civil War was named after what famous abolitionist?

ANSWER: JOHN BROWN or JOHN BROWN’S BODY
8A.
Protein and carbohydrates are generally reckoned to have 4 calories per gram. How many calories are generally reckoned to be in a gram of fat?

ANSWER: 9 calories

8B.
THIS IS A COMPUTATION QUESTION. A worker is making $51,000 per year. Assuming 50 40-hour workweeks, how much is the worker making per hour?

ANSWER: $25.50 (40 * 50 = 2000, $51,000 / 2000 = $25.50)

Second period (continued)

9A.
What two-word phrase is used to describe unrhymed poetry written in iambic pentameter?

ANSWER: BLANK VERSE
9B.
According to what Christian doctrine, the Fall of Man has caused every human being to inherit a flawed or tainted nature with a disposition to sinful conduct?

ANSWER: ORIGINAL SIN
10A.
THIS IS A COMPUTATION QUESTION. What is the geometric mean of the numbers 15 and 25?

ANSWER: FIVE SQUARE ROOTS OF FIFTEEN or SQUARE ROOT OF 375 (15 / b = b / 25 where b is the geometric mean. This yields b squared equals 375, hence b equals the square root of 375. 25 can be pulled out of the square root of 375 yielding 5 square roots of 15.)

10B.
Who led the rebellion against Lord Berkeley, governor of Virginia, in 1676?

ANSWER: Nathaniel BACON
Third period: 15 toss-ups

1.
This force is expressed as the product of the masses of the two objects divided by the distance squared, multiplied by a constant referred to as G. What is this force, which is the mutually attractive force between two objects due to their masses?

ANSWER: GRAVITY
2.
His seizure of Silesia during the War of the Austrian Succession marked him as a great military commander, and he managed to fight off the combined forces of France, Austria and Russia during the Seven Years’ War. In addition, he hosted philosophers such as Voltaire and was considered an enlightened despot. Who was this Prussian king?

ANSWER: FREDERICK II or FREDERICK THE GREAT
3.
In addition to his ‘Rose’ period, what artist also had a famous ‘Blue’ period?

ANSWER: Pablo PICASSO
4.
This one act play by Alfred Uhry describes the relationship between Hoke Coleburn, a black chauffeur, and Daisy Werthan, an elderly Jewish widow in Atlanta. What is this play that was also made into a movie of the same name, which won an Academy Award for Best Screenplay in 1989?

ANSWER: DRIVING MISS DAISY
5.
What term is given in C programming to a variable that does not contain a value, but rather a memory location that can have a value stored there?

ANSWER: POINTER
6.
What name is given to the fish that during parts of the year, emerge from water to live on land?

ANSWER: LUNGFISH
Third period (continued)

7.
THIS IS A COMPUTATION QUESTION. A ditchdigger is asked to dig a ditch around a square area of 4,900 square feet. Assuming the ditchdigger can dig 20 feet per hour, how many hours will it take the digger to dig the ditch?

ANSWER: 14 hours (the area is 70 feet by 70 feet, perimeter of 280 feet, 280 divided by 20 is 14)

8.
This fictional veterinarian was created by Hugh Lofting from letters sent to his children from the front in World War I. Who is this eccentric doctor whose parrot Polynesia, teaches him languages that enable him to treat his patients’ complaints more effectively, the languages of animals?

ANSWER: DOCTOR DOOLITTLE
9.
It was created by the Glass-Steagall Act of 1933 and set an initial limit of $5,000. Today, that limit is $100,000. What is this federally backed corporation that guarantees bank deposits?

ANSWER: FEDERAL BANK DEPOSIT INSURANCE CORPORATION or FDIC
10.
Who was the embattled Secretary of Labor nominee that had to withdraw her bid amid allegations that she had harbored an illegal immigrant in her home?

ANSWER: Linda CHAVEZ
11.
Women from this society are required to be nude at all times, which isn’t a problem for public consumption, as they are not allowed outside of their homes. A good mother is supposed to chew her children’s food, and the men are constantly out following the Rules of Acquisition. What is this race whose members include Quark, known for its greed from Star Trek?

ANSWER: FERENGI (feh-ren-GHEE)

12.
What four-letter word is alternatively given to represent a unit of computer memory storage, a boy attending a knight on the battle, or one side of a sheet of paper in a book or newspaper?

ANSWER: PAGE
Third period (continued)
13.
What is the derivative of the function f(x) = cos x? (f of x equals the cosine of x)

ANSWER: NEGATIVE SINE OF X or –sin x
14.
It was formally disbanded by its founder, General Nathan Bedford Forrest in 1869, but continued activities after that date. By the 1880s, the group had by and large faded due to the success of Jim Crow, making it unnecessary. A new version was founded in Georgia in 1915 that added Jews, Catholics and other undesirables to its list of enemies. What is the common name for these two organizations?

ANSWER: KU KLUX KLAN
15.
What ‘numbers’ in chemistry are used to describe an atom of an element, and have the Principal, Secondary or subshell, magnetic, and spin types, and are abbreviated n, l, m and s respectively?

ANSWER: QUANTUM numbers

Spares

Two kidnappers take the son of a prominent man. However, the boy proves to be so hard to handle that the kidnappers eventually pay the boy’s father 50 cents to be rid of him. This is what short story by O.Henry?

ANSWER: THE RANSOM OF RED CHIEF
A serial bomber wants to target the Miss United States beauty pageant, and FBI agent Gracie Hart is assigned to stop this madman by entering the pageant and enlisting the help of partner Eric Matthews and beauty consultant Michael Caine. This is a synopsis of what recently released spoof on beauty pageants, starring Sandra Bullock as Agent Hart?

ANSWER: MISS CONGENIALITY
THIS IS A COMPUTATION QUESTION. What number is 40% of 365?

ANSWER: 146
Between what two states does Lake Tahoe lie?

ANSWER: CALIFORNIA and NEVADA
The sial (SIGH-ul) and sima (SIGH-muh) are the two parts of what layer of the Earth?

ANSWER: the CRUST
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